10105 (KlOCLn)

Linearized knot diagam

/ 0 R

Solving Sequence
1

2 — — 77— — 44— 55— 8 — Cyq,C7, C
Aknotdlagranﬂ 9023606701 103405508801010%4 [

Ideals for irreducible component#ﬂ)f Xpar

I = (=30u!® — 176u!® 4 - - - + 1103b + 331, 1294u'® — 1159u'® 4 - - - + 1103a + 2562,

w4 60t + ut + 160’ + 4u'? + 200t 4 Tut® 4 Tu® + 5u® — Tu” 4+ 3ub — 3uP 4 ut 4 3ud + 2u + 1)

I¥ = (—4.51865 x 103%% +6.97530 x 103%3* + - .- 4+ 1.68010 x 10 — 7.80705 x 10*°,
—1.24909 x 10%°u*® 4 1.82583 x 10%°0>* + - - + 2.27642 x 10*°a + 4.03057 x 10*°,
u® — 35 4+ 186u + 43)

I = (ul +4u* —u® + 40 +b—2u+2, —u” +ub —4u® + 5u* — 5ud + 6u® +a — 3u + 3,
u® + 4ub — ud + 5ut — 203 + 4u? —u 1)

* 3 irreducible components of dim¢ = 0, with total 61 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (—30u'® — 176u!% + ...+ 1103b + 331, 1294u'® — 1159u!5 + ...
1

1103a + 2562, u'” + 6ul® + ... + 2u + 1)

(i) Arc colorings

- )

o= (o)
o= (e)
—1.17316u'6 4+ 1.05077u'® + - - - + 0.526745u — 2.32276
as = \0.0271985u'% 4+ 0.159565u'® + - - - + 1.65549u — 0.300091
—1.20036u'6 + 0.891206u'° + - - - — 1.12874u — 2.02267
a7 = \0.0271985u% 4 0.159565u'® + - - - + 1.65549u — 0.300091
—0.393472u'6 — 0.0417044u"® + - - - + 0.317316w + 0.407978
ay = —1.59383u!6 4 0.849501u!® + - - - — 0.811423u — 1.61469
w41
ag = \1.57298u0 — 1.10517u™® + - - - + 0.408885u + 1.81142
-1
as = ( 16500016 + 1.49864u15 + - - - + 1.42339u — 0.312783)
o= (1)

u
a0 = (—1.49864u16 +0.407978u'® 4 - - - — 1.01723u — 1.16500)

(ii) Obstruction class = —1

1215,,16 __ 3902u15 4. 52 4030

(iii) Cusp Shapes = 753 s b 22y — 2930

+



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cg W= 7wt o —36u+8
C9,Cy4,C8 u17+6u15+--~+2u+1
C9
c3,C7 W — w1
& ' 4 Tutt - — 48u + 64
c10 u'” — 15u' + - + 608u — 64




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce T — Tyl + ... — 48y — 64
C9,Cy4,C8 y17+12y16_~_.._+4y_1
C9
€3, ¢7 y T3y 9y — 1
Cs y'" + 5yt% 4+ -+ 17664y — 4096
c10 y'" —5y'% + - 4 17408y — 4096




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1C)

Cusp shape

u = —0.099668 + 0.9903771
a= 0.755793 + 0.0485081
b= 0.874913 + 1.0170701

—0.65585 — 3.588271

—5.01554 4 5.198201

u = —0.099668 — 0.9903771
0.755793 — 0.0485081
b= 0.874913 — 1.0170701

—0.65585 + 3.588271

—5.01554 — 5.198201

uw = —0.397497 + 1.0324201
a= 2.04240 — 0.799521
b= 1.30568 4 0.566991

—3.72641 — 6.770301

—4.91686 + 11.505501

uw = —0.397497 — 1.0324201
= 2.04240 4 0.799521
1.30568 — 0.566991

—3.72641 + 6.770301

—4.91686 — 11.505501

0.749827 + 0.2445671
0.108910 + 0.6113881
0.696825 — 0.6509711

2.74501 + 0.690001

3.24547 — 1.788171

0.749827 — 0.2445671
= 0.108910 — 0.6113881
= 0.696825 + 0.6509711

2.74501 — 0.690001

3.24547 4 1.788171

= 0.346178 4+ 0.6926371
—0.666585 + 0.297186.1

0.24233 4-1.647111

1.95019 — 4.120841

0.346178 — 0.6926371
—0.666585 — 0.2971861
—0.037067 — 0.7562331

0.24233 — 1.647111

1.95019 + 4.120841

—0.736048 + 0.0384671
0.755454 + 0.9086101
0.928563 — 0.6384101

2.06897 + 4.316561

2.23828 — 5.039951

—0.736048 — 0.0384671
= 0.755454 — 0.9086101

b
U
a
b
U
a
b
U
a
b= —0.037067 + 0.7562331
U
a
b
U
a
b
U
a
b= 0.928563 + 0.6384101

2.06897 — 4.316561

2.23828 + 5.039951




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.285508 + 1.3575401
a = —1.79507 — 0.111011
b= —1.375440 — 0.1348251

—10.04230 + 5.591451

—9.61044 — 4.675161

u = 0.285508 — 1.3575401
a = —1.79507 + 0.111017
b= —1.375440 + 0.1348251

—10.04230 — 5.591451

—9.61044 + 4.675161

u = —0.52629 + 1.318061
a = —0.119329 — 0.2661157
b= 0.352099 — 0.9770161

—3.89694 — 9.327571

—4.13921 + 5.559061

u = —0.52629 — 1.318061
a = —0.119329 + 0.266115]
b= 0.352099 + 0.9770161

—3.89694 + 9.327571

—4.13921 — 5.559061

u= 0.59743 + 1.426721
a= 1.62332+ 0.789001
b= 1.192940 — 0.6411611

—6.4799 + 15.18171

—6.31050 — 8.670421

u= 0.59743 — 1.426721
a= 1.62332 —0.789001
b= 1.192940 + 0.6411611

—6.4799 — 15.18171

—6.31050 + 8.670421

u = —0.438874
a = —1.40978
b= —0.877026

—1.63327

—4.88280




II. I} = (—4.52 x 10%%435 + 6.98 x 10%%u* 4 ... + 1.68 x 10°b — 7.81 X
1039, —1.25 x 10%°5u3% 4+ 1.83 x 10%5u34 4 ... + 2.28 x 10%°a + 4.03 X
1046, 436 — 435 + ... + 186u + 43)

(i) Arc colorings

- ()
)

ag =

az =

)

0.548710u3® — 0.802063u3* + - - - — 49.1305u — 17.7057)

as = \0.268951u%% — 0.415172u3* + - - - — 2.22836u + 0.464678

0.279759u3% — 0.386891u3* + - - - — 46.9021u — 18.1704
a7 = \0.268951u3° — 0.415172u3* + - - - — 2.22836u + 0.464678
( —0.769505u3% + 1.07166u3* + - - - 4+ 31.1795u + 19.4777

ay = 0.393831u3° + 0.112167u3* + - - - — 65.8523u — 14.5725

—0.637961u®> + 0.592755u34 + - - - — 103.303u — 23.1636)

aq =

—0.184491u3% + 0.149837u3* + - - - — 15.4345u + 1.18486

—0.359956u% + 0.244025u34 + - - - — 66.5978u — 5.35101
0.294559u3% — 0.557722u3* + - - - — 13.0683u — 4.16067

ud +u>

—0.371740u?> + 1.03334u>3* + - - - 4+ 105.667u + 33.5297
a10 = \ —0.291646u3% + 0.0216178u3% + - - - — 56.3790u — 13.1684

a5 =

ag —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.228694u35 — 0.643530u3* + - - - — 255.696u — 70.7596



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ce (u® +u® —ut — 2u3 +u +1)°
C2,C4,Cg U36_U35++186U+43
Cg
c3, C7 wl —3ud . —16u+1
¢ (ub + 3u® + 5u* + 4u® + 2u® + u + 1)°
c10 (u 4 u? —1)12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq (y® — 3y + 5y* — 4> +2y% —y 4+ 1)°
2 8 y*0 +27y% + -+ 4 29904y + 1849
cy
C3, Ct y36—9y35+-~-—36y+1
s (v° +y° +5y" + 65> + 3y +1)°
c10 (v* —y* +2y—1)"




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —1.046060 + 0.1001101
a = —0.471095 + 0.7393121
b= —0.428243 — 0.6645317

—0.02007 + 3.752431

—0.77353 — 3.773671

u = —1.046060 — 0.1001101
—0.471095 — 0.7393121
b= —0.428243 + 0.6645311

—0.02007 — 3.752431

—0.77353 + 3.773671

u = —0.071145 4 1.0526401
a= 296217 + 0.544421
b= 1.002190 — 0.295542]

—3.80128 — 1.903821

—8.20696 + 2.185221

u = —0.071145 — 1.0526401
= 2.96217 — 0.544421
1.002190 + 0.2955421

—3.80128 + 1.903821

—8.20696 — 2.185221

= 0.445481 + 0.8078331
= —0.769672 — 0.1517931
= —0.428243 + 0.6645311

—0.02007 + 1.903821

—0.77353 — 2.185221

= 0.445481 — 0.8078331
= —0.769672 + 0.1517931
= —0.428243 — 0.6645311

—0.02007 — 1.903821

—0.77353 4 2.185221

= —0.015491 + 1.1016101
0.567110 — 0.0997711

—4.15765 + 0.924301

—7.30279 — 0.794231

—0.015491 — 1.1016107
0.567110 + 0.0997711
—0.428243 + 0.6645311

—4.15765 — 0.924301

—7.30279 4 0.794231

0.098878 + 1.1311301
= —1.90200 — 0.196721
—1.073950 + 0.5587521

—1.91067 + 2.864901

—4.49024 — 2.531121

0.098878 — 1.1311307
= —1.90200 + 0.196721

b
U
a
b
U
a
b
U
a
b= —0.428243 — 0.6645317
U
a
b
U
a
b
U
a
b= —1.073950 — 0.5587521

—1.91067 — 2.864901

—4.49024 + 2.531121
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

u = —0.196406 + 1.1321807
a = —1.65820 + 1.549991
b= —1.073950 — 0.5587521

—6.04826 — 5.693021

—11.01951 4 5.510571

uw = —0.196406 — 1.1321801
a = —1.65820 — 1.549991
b= —1.073950 + 0.5587521

—6.04826 4 5.693021

—11.01951 — 5.510571

1.031890 + 0.6357951
= 0.203148 — 0.4309361
= 1.002190 + 0.2955421

S
|

—3.80128 4 1.903821

—8.20696 — 2.185221

= 1.031890 — 0.6357951
= 0.203148 + 0.4309361
= 1.002190 — 0.2955421

—3.80128 — 1.903821

—8.20696 + 2.185221

0.444188 + 1.1463301
= 0.054279 — 0.5720621
= —0.428243 — 0.6645311

—0.02007 + 3.752431

—0.77353 — 3.773671

= 0.444188 — 1.1463301
= 0.054279 4+ 0.5720621
= —0.428243 + 0.6645311

—0.02007 — 3.752431

—0.77353 + 3.773671

= 1.81411 —1.132021
= 1.002190 + 0.2955421

—3.80128 — 3.752431

—8.20696 + 3.773671

= —0.560207 — 1.1247301
= 1.81411 + 1.132021
= 1.002190 — 0.2955421

—3.80128 4 3.752431

—8.20696 — 3.773671

= —0.598261 + 0.3928551
= —0.352723 + 0.3859461
= —1.073950 + 0.5587521

—1.91067 4 2.864901

—4.49024 — 2.531121

= —0.598261 — 0.3928551
= —0.352723 — 0.3859461

a
b
u
a
b
u
a
b
u
a
b
u = —0.560207 + 1.1247301
a
b
u
a
b
u
a
b
u
a
b= —1.073950 — 0.5587521

—1.91067 — 2.864901

—4.49024 + 2.531121
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

1.350340 + 0.0167231
—0.597073 — 0.5229121
—1.073950 + 0.5587521

—1.91067 + 8.521141

—4.49024 — 8.490021

1.350340 — 0.0167231
—0.597073 + 0.5229121
—1.073950 — 0.5587521

—1.91067 — 8.521141

—4.49024 + 8.490021

—0.388989 + 1.3003501
= —2.16057 + 0.727321
—1.073950 — 0.5587521

—1.91067 — 8.521141

—4.49024 + 8.490021

—0.388989 — 1.3003501
—2.16057 — 0.727321
—1.073950 + 0.5587521

—1.91067 + 8.521141

—4.49024 — 8.490021

—0.274718 4 0.5657391
—0.544610 + 1.1413807
—0.428243 4 0.6645311

—0.02007 + 1.903821

—0.77353 — 2.185221

—0.274718 — 0.5657391
—0.544610 — 1.1413807
—0.428243 — 0.6645311

—0.02007 — 1.903821

—0.77353 + 2.185221

—0.555599 + 1.2700201
0.035250 — 0.3345691
—0.428243 4 0.6645311

—4.15765 — 0.924301

—7.30279 + 0.794231

—0.555599 — 1.2700201
0.035250 + 0.3345691
—0.428243 — 0.6645311

—4.15765 + 0.924301

—7.30279 — 0.794231

—0.06736 + 1.435391
1.81428 — 0.635931
1.002190 — 0.2955421

—7.93886 + 0.924301

—14.7362 — 0.79421

—0.06736 — 1.435391
1.81428 + 0.635931
1.002190 + 0.2955421

> Q@ €| & €| & €| & €| & | & 8| & 8|l & 8|l & 8| & &g
Il

—7.93886 — 0.924301

—14.7362 + 0.79421
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.216323 + 0.4220261
= —1.90801 — 1.664471
1.002190 — 0.2955421

—3.80128 + 3.752431

—8.20696 — 3.773671

—0.216323 — 0.4220261
—1.90801 + 1.664471
1.002190 + 0.2955421

—3.80128 — 3.752431

—8.20696 + 3.773671

0.80839 + 1.450581
= —1.15715 — 0.891311
—1.073950 + 0.5587521

—6.04826 + 5.693021

0.80839 — 1.450581
—1.15715 4 0.891311
—1.073950 — 0.5587521

—6.04826 — 5.693021

0.31139 + 1.814071
1.280070 — 0.1272331
1.002190 + 0.2955421

—7.93886 — 0.924301

> Q@ €|l & €| & €| & 8| & 2| & &

0.31139 — 1.814071
1.280070 + 0.1272331
1.002190 — 0.2955421

—7.93886 + 0.924301
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I I¥ = (u + 4u?* —uwd +4u® +b—2u+2, —u" +u+---+a+3, ud+
4ub — u® + 5u* — 2ud +4u? —u +1)

(i) Arc colorings
1
as =
ag =
az =

ag =

u’ — b +4u —5ut +5u® — 6u? +3u—3
—dut +ud — 4+ 2u—2

u7—|—4u u4+4u3—2u2+u—1)

ar = —dut +u® —4u? 4+ 2u—2

w4+ 3ud —ut+2ud —u?+3u
a1 = \2u" +7u® — 2ut +6ud —3u? +4u—1
—u? -1
ag = \ —y7 —ub —4u® —2ut —duP —u? —2u—1
-1
as = \ —y7 — 208 — 4u® — 6u* — 3ud —4u? —u—3
ag = <
u
a10 = \2u” + 7u® — 2ut + 6u® — 3u? +5u —1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u” + 6u® — 12u® + 23u* — 18u® + 21u? — 15u + 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u® —2u8 —ud 4+ 3ut + 20 — 20 —u+1
C2,Cy WHduwt — Wl +5ut -2+t —u+1
cs, C7 Wru —ut—ud 41
Cq,C8 W+duwS +ul +5ut+ 20 4t +u+1
Cs u® — 4u” + 100’ — 1705 4 23u? — 2203 4 14u® — Su+ 1
Co W2+ +3ut — 20— 20+ u+1
C10 ud +4u” +6ul +4u® —3ud — 2% +1

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Co y® —4y” +10y5 — 175 + 23y — 2243 + 1497 — 5y + 1
DELES 8y +26y° + 4Ty® + 55yt +42y° + 227 + Ty + 1
Co
c3, ¢ vy -2+ 2+ 3y - -2+ 1
Cs y® +4y” +10y5 + 23y° + 23y + 1093 + 2202 + 3y + 1
c10 Y8 —dy" + 4y + 4y® 2yt + 3y + 4y — Ay + 1

16



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.484309 + 0.9948407
a= 1.66075—1.395451
b= 1.136610 + 0.4919051

—4.20254 — 5.735341

—7.16249 4 5.561771

u = —0.484309 — 0.9948401
1.66075 + 1.395451
1.136610 — 0.4919051

b:

—4.20254 + 5.735341

—7.16249 — 5.561771

0.487513 + 0.6876541
a = —0.960124 — 0.9500691
b= 10.612814 + 0.3102281

u =

—2.09195 + 2.247831

—2.26438 — 2.853231

u= 0.487513 — 0.6876541
a = —0.960124 4 0.9500691
0.612814 — 0.3102281

—2.09195 — 2.247831

—2.26438 4 2.853231

= 0.110933 + 0.6528051
—1.26488 4 0.664851
—0.819536 + 0.8803131

0.32853 + 3.260751

2.37672 — 5.459481

0.110933 — 0.6528051
= —1.26488 — 0.664851

0.32853 — 3.260751

2.37672 + 5.459481

=—0.11414 + 1.615191
= —1.43575 + 0.222091
= —0.929887 + 0.3009781

—7.19351 + 1.241431

—2.94984 — 5.907531

=—0.11414 — 1.615191
= —1.43575 — 0.222097

b
U
a
b
U
a
b= —0.819536 — 0.8803131
U
a
b
U
a
b= —0.929887 — 0.3009781

—7.19351 — 1.241431

—2.94984 + 5.907531
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IV. u-Polynomials

e —16u+1)

Crossings u-Polynomials at each crossing
1 (W 4u® —u* =20 +u+ 1% (W® - 20+ —u+1)
(T = Tul® 4 — 36u + 8)
e, o (u® +4u’ + - —u+ 1) (" +6ut® + -+ 2u+1)
(uP® — w4 186u + 43)
cs, c7 (W +u” —ut =P+ DT = = 1)(u - 30
c1.cs (W +4uS + - Fut+ D)W F6u® -+ 2u+1)
(u® = 4 -+ 186u + 43)
cs (u® + 3u® + 5u* + 4u® 4 2u? + u 4+ 1)°
(u® — 4"+ 10u® — 170’ + 23u? — 2203 + 14u® — Su + 1)
(' Tul® - — 48u + 64)
6 (W 4u° —u* =20 +u+1)%)(u® =20+ +u+1)
(T =Tt 4 36u + 8)
10 (u® 4+ u? — 1) (u® + 4u” + 6u® + 4u® — 3u® — 2u® + 1)

S(ut” = 15ut + -+ 608u — 64)

18



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
(y° = 3y° +5y" —4y° + 20° —y +1)°
c1,C
b (B — 4y +10y8 — 17y + 23y* — 22¢% + 1492 — 5y + 1)
(YT =Tyt - — 48y — 64)
C2,C4,C8 (y® 4 8y” + 2695 + 47y° + 55y + 42¢° + 22y + Ty + 1)
co ST 12910 Ay — 1) (%0 27y - 20904y + 1849)
cs. cn W =y =22 (YT 3y e =9y - 1)
(P =9y - =36y +1)
s (W° +y” +5y" + 6y + 3y +1)°
(Y + 4y + 10y + 23y° + 23y* +10y° + 2242 + 3y + 1)
(YT 4 5yt + -+ 17664y — 4096)
10 (= +2y - D)) -+ —dy+1)

(y' = By'® 4 - 4+ 17408y — 4096)
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